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QUESTION 1

An administrator has received a request for a disaster recovery solution that will allow the company to bring the payroll
system up within two to three weeks of a disaster being declared. Which of the following would meet the MINIMUM
requirements of this objective? 

A. Cold site 

B. Warm site 

C. Satellite site 

D. Hot site 

Correct Answer: A 

 

QUESTION 2

Which of the following can be done after an administrator deploys a virtual server to ensure that the server vNIC can
communicate to the physical network? 

A. Bridge the vNIC 

B. Set the vNIC speed to half-duplex 

C. Add an addition vNIC 

D. Set the vNIC speed to full-duplex 

Correct Answer: A 

 

QUESTION 3

Which of the following would MOST likely require a cold migration? 

A. Moving VMs between hosts on different continents 

B. Moving VMs between hosts with different RAM configurations 

C. Moving VMs between hosts with different CPU architectures 

D. Moving VMs between hosts in different network segments 

Correct Answer: C 

 

QUESTION 4

Which of the following is true about a Type II hypervisor? 
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A. It requires a primary hypervisor to function properly. 

B. It implements stronger security controls than a Type I supervisor at the same patch level. 

C. It provides slower performance than a Type I hypervisor installed on the same hardware. 

D. It provides direct hardware access through the use of specialized drivers. 

Correct Answer: C 

 

QUESTION 5

Which of the following business continuity designs provides the highest degree of fault tolerance? 

A. Cold Site 

B. Site Mirroring 

C. Warm Site 

D. Hot Site 

Correct Answer: B 
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